

On Weighted Pál Type (0,2)-interpolation on the Unit Circle

Swarnima Bahadur (✉ swamimabhadur@gmail.com)

University Of Lucknow <https://orcid.org/0000-0001-8734-943X>

Sariya Bano

University Of Lucknow

Research Article

Keywords: Legendre polynomial, weight function, interpolatory polynomials, Existence, Explicit forms, Convergence

Posted Date: October 26th, 2021

DOI: <https://doi.org/10.21203/rs.3.rs-1021048/v1>

License: © ⓘ This work is licensed under a Creative Commons Attribution 4.0 International License.

[Read Full License](#)

ON WEIGHTED PÁL TYPE (0,2)-INTERPOLATION ON THE UNIT CIRCLE

Sariya Bano, Swarnima Bahadur

¹Research Scholar, Department of Mathematics and Astronomy University of Lucknow, Lucknow 226007, India.

²Assistant Professor, Department of Mathematics and Astronomy University of Lucknow, Lucknow 226007, India.

¹sariya0507@gmail.com

²swarnimabahadur@ymail.com

Abstract:

In this paper, we study the explicit representation of weighted Pál-type (0,2)-interpolation on two pairwise disjoint sets of nodes on the unit circle, which are obtained by projecting vertically the zeros of $(1 - x^2)P_n(x)$ and $P_n''(x)$ respectively, where $P_n(x)$ stands for n^{th} Legendre polynomial.

Keywords: Legendre polynomial, weight function, interpolatory polynomials, Existence, Explicit forms, Convergence.

AMS Classification (2000): 41A05, 30E10.

Introduction:

In 1979, P. Turán [10] studied the (0,2) interpolation for getting an approximate solution of differential equation

$$y'' + fy = 0.$$

J. Balázs [6] introduced the weighted (0, 2)-interpolation on the zeros of ultraspherical polynomial $P_n^{(\alpha)}(x)$, $\alpha > -1$. In 1961, O. Kiš [8] initiated the Lacunary interpolation on the unit circle. He considered (0,2) interpolation on the unit circle and established the convergence theorem. After that several mathematician have considered (0,2) interpolation viz. on the unit circle, infinite interval and on the real line. In 1996, Siqing Xie [11] considered (0,1,3) interpolation on the vertically projected nodes onto the unit circle. He claimed the regularity, explicit representation and convergence of (0,1,3) –interpolation. In 2003 H.P. Dikshit [7] considered the Pál type interpolation on non –uniformly distributed nodes on the unit circle. After that author¹ (with K.K. Mathur) [1] considered the weighted (0,2)*-interpolation on the set of nodes obtained by projecting vertically the zeros of $(1 - x^2)P_n(x)$ on the unit circle and established a convergence theorem for that interpolatory polynomial. In 2012, she [2,3] considered weighted (0;0,2) and (0,2;0) interpolation on projected nodes onto the unit circle, obtained the regularity, fundamental polynomial and established a convergence theorem. Later on author¹ (with M. Shukla) [4] considered (0,2)-interpolation on the nodes, which are obtained by projecting vertically the zeros of $(1 - x^2)P_n^{(\alpha, \beta)}(x)$ onto the unit circle, where $P_n^{(\alpha, \beta)}(x)$ stands for Jacobi polynomial, obtained the explicit forms and established a convergence theorem for the same. Recently, authors [5] considered weighted (0,2)-interpolation on the nodes, which are obtained by projecting vertically the zeros of the $(1 - x^2)P_n'(x)$ onto the unit circle, established a convergence theorem for the same.

These have motivated us to consider (0;0,2) interpolation on two pairwise disjoint set of nodes on the unit circle.

Let,

$$(1.1) Z_n = \begin{cases} z_0 = 1, & z_{2n+1} = -1, \\ z_k = \cos \theta_k + i \sin \theta_k, \\ z_{n+k} = \bar{z}_k, & k = 1(1)n \end{cases}$$

$$(1.2) T_n = \begin{cases} t_k = \cos \varphi_k + i \sin \varphi_k, \\ t_{n+k} = \bar{t}_k, & k = 1(1)n - 2 \end{cases}$$

be two set of nodes. In which the Lagrange data is prescribed on the first set of nodes whereas Lacunary data on the other one. We obtained regularity, explicit forms and established a convergence theorem of the interpolatory polynomials.

In section 2, we give some Preliminaries, in section 3, we describe the problem and regularity, in section 4 and section 5, we present the explicit forms and convergence of weighted Pál-type (0,2)-interpolation on the unit circle respectively.

2. Preliminaries:

In this section, we shall use some well-known results, which are :

The differential equation satisfied by $P_n(x)$ is

$$(2.1) (1 - x^2)P_n''(x) - 2xP_n'(x) + n(n + 1)P_n(x) = 0$$

$$(2.2) W(z) = \prod_{k=1}^{2n} (z - z_k) = K_n P_n \left(\frac{1+z^2}{2z} \right) z^n$$

$$(2.3) R(z) = (z^2 - 1) W(z)$$

$$(2.4) H(z) = \prod_{k=1}^{2n-4} (z - t_k) = K_n^* P_n'' \left(\frac{1+z^2}{2z} \right) z^{n-2}$$

We shall require the fundamental polynomial of Lagrange interpolation based on the zeros of $W(z)$, $R(z)$ and $H(z)$ are respectively given as:

$$(2.5) L_{1k}(z) = \frac{W(z)}{(z-z_k)W'(z_k)}, k = 1(1)2n$$

$$(2.6) L_k(z) = \frac{R(z)}{(z-z_k)R'(z_k)}, k = 0(1)2n + 1$$

$$(2.7) l_k(z) = \frac{H(z)}{(z-t_k)H'(t_k)}, k = 1(1)2n - 4$$

$$(2.8) J_{1k}(z) = \int_0^z t l_k(t) dt$$

$$(2.9) J_k(z) = \int_0^z H(t) dt$$

which satisfies,

$$(2.10) J_k(-z) = -J_k(z)$$

$$(2.11) W'(z_k) = \frac{1}{2}K_n(z_k^2 - 1)z_k^{n-2}P_n'(x_k)$$

$$(2.12) W''(z_k) = K_n[(n-1)(z_k^2 - 1) - 1]z_k^{n-3}P_n'(x_k)$$

$$(2.13) W'(t_k) = \frac{1}{2}K_n \frac{n(n+3)(t_k^2-1)+4}{(t_k^2+1)} t_k^{n-1} P_n(x_k^*),$$

$$(2.14) W''(t_k) = \frac{1}{2}K_n \frac{n(n-1)\{(n-1)(t_k^2-1)-1\}}{(t_k^2+1)} t_k^{n-2} P_n(x_k^*),$$

$$(2.15) H'(t_k) = \frac{K_n^*}{2} (t_k^2 - 1) t_k^{n-4} P_n'''(x_k^*),$$

$$(2.16) H''(t_k) = K_n^* \{(n-5)(t_k^2 - 1) - 5\} t_k^{n-5} P_n'''(x_k^*),$$

We will also use the following well known inequalities:

For, $-1 < x < 1$

$$(2.17) (1-x^2)^{1/4} |P_n(x)| \leq \sqrt{\frac{2}{\pi}} n^{-1/2},$$

$$(2.18) (1-x^2)^{3/4} |P_n'(x)| \leq \sqrt{2} n^{1/2},$$

$$(2.19) |P_n(x)| \leq 1,$$

Let $x_k = \cos \theta_k (k = 1, 2, \dots, n)$ are the zeros of n^{th} Legendre polynomial $P_n(x)$, with $1 > x_1 > x_2 > \dots > x_n > -1$, then

$$(2.20) (1-x_k^2)^{-1} \sim \left(\frac{k}{n}\right)^{-2}$$

$$(2.21) |P_n^{(r)}(x_k)| \sim k^{-r-\frac{1}{2}} n^{2r}, r = 0, 1, 2, 3.$$

For more details, one can see [9].

3. The Problem and Regularity:

Let $\{z_k\}_{k=0}^{2n+1}$ and $\{t_k\}_{k=1}^{2n-4}$ be two disjoint set of nodes obtained by projecting vertically the zeros of $(1-x^2)P_n(x)$ and $P_n'(x)$ onto the unit circle respectively, where $P_n(x)$ stands for n^{th} Legendre polynomial. Here we are interested to determine the following polynomial $Q_n(z)$ of degree $\leq 6n-7$ satisfying the conditions:

$$\begin{cases} Q_n(z_k) & = \alpha_k, & k = 0(1)2n + 1 \\ Q_n(t_k) & = \beta_k, & k = 1(1)2n - 4 \\ [p(z)Q_n(z)]''_{z=t_k} & = \gamma_k, & k = 1(1)2n - 4 \end{cases}$$

where, $\alpha_k, \beta_k, \gamma_k$ are arbitrary complex constants and weight function

$$p(z) = z^{n(n-3)/2} (z^2 - 1)^{7/2} (z^2 + 1)^{-n(n+1)/2}.$$

Theorem 3.1: $Q_n(z)$ is regular on Z_n and T_n .

Proof: It is sufficient, if we show that the unique solution of (3.1) is

$$Q_n(z) \equiv 0,$$

when all data $\alpha_k = \beta_k = \gamma_k = 0$.

In this case, we have

$$Q_n(z) = W(z)H(z)q(z),$$

where, $q(z)$ is a polynomial of degree $\leq 2n-3$.

Obviously, $Q_n(z_k) = 0$, for $k = 1(1)2n$,

and also $Q_n(t_k) = 0$, for $k = 1(1)2n-4$.

Now, from

$$[p(z)Q_n(z)]''_{z=t_k} = 0$$

we get,

$$q'(t_k) = 0$$

Therefore, we have

$$\begin{aligned} q'(z) &= aH(z) \\ q(z) &= aJ_k(z) + b \end{aligned}$$

where, $J_k(z)$ is given in (2.9).

Now for $z = 1$ & -1 , we get

$$a = b = 0$$

Therefore, $Q_n(z) \equiv 0$
Hence the theorem follows.

4. Explicit Representation Of Interpolatory Polynomials:

We shall write $Q_n(z)$ satisfying (3.1) as:

$$(4.1) \quad Q_n(z) = \sum_{k=0}^{2n+1} \alpha_k A_k(z) + \sum_{k=1}^{2n-4} \beta_k B_k(z) + \sum_{k=1}^{2n-4} \gamma_k C_k(z)$$

where, $A_k(z)$, $B_k(z)$ and $C_k(z)$ are unique polynomial, each of degree at most $6n - 7$ satisfying the conditions:

For $k = 0(1)2n + 1$

$$(4.2) \quad \begin{cases} A_k(z_j) & = \delta_{jk}, \quad j = 0(1)2n + 1 \\ A_k(t_j) & = 0, \quad j = 1(1)2n - 4 \\ [p(z)A_k(z)]''_{z=t_j} & = 0, \quad j = 1(1)2n - 4 \end{cases}$$

For $k = 1(1)2n - 4$

$$(4.3) \quad \begin{cases} B_k(z_j) & = 0, \quad j = 0(1)2n + 1 \\ B_k(t_j) & = \delta_{jk}, \quad j = 1(1)2n - 4 \\ [p(z)B_k(z)]''_{z=t_j} & = 0, \quad j = 1(1)2n - 4 \end{cases}$$

For $k = 1(1)2n - 4$

$$(4.4) \quad \begin{cases} C_k(z_j) & = 0, \quad j = 0(1)2n + 1 \\ C_k(t_j) & = 0, \quad j = 1(1)2n - 4 \\ [p(z)C_k(z)]''_{z=t_j} & = \delta_{jk}, \quad j = 1(1)2n - 4 \end{cases}$$

Theorem 4.1: For $k = 1(1)2n - 4$, we have

$$(4.5) \quad C_k(z) = W(z) H(z) \{C_k J_{1k}(z) + C_{1k} J_k(z) + C_{2k}\}$$

where,

$$(4.6) \quad C_k = \frac{1}{t_k p(t_k) W(t_k) H'(t_k)}$$

$$(4.7) \quad C_{1k} = -C_{1k} \frac{\{J_{1k}(1) - J_{1k}(-1)\}}{2J_k(1)}$$

$$(4.8) \quad C_{2k} = -C_{1k} \frac{\{J_{1k}(1) + (-1)\}}{2}$$

Theorem 4.2: For $k = 1(1)2n - 4$, we have

$$(4.9) \quad B_k(z) = \frac{(z^2-1)l_k^2(z)W(z)}{(t_k^2-1)W(t_k)} + \frac{W(z)H(z)}{(t_k^2-1)H'(t_k)W(t_k)} \{S_k(z) + b_{1k}J_k(z) + b_{2k}\} + b_k C_k(z)$$

where,

$$(4.10) \quad S_k(z) = -\int_0^z \frac{(t^2-1)[l'_k(t) - l'_k(t_k)l_k(t)]}{(t-t_k)} dt$$

$$(4.11) \quad b_{1k} = -\frac{\{S_k(1) - S_k(-1)\}}{2J_k(1)}$$

$$(4.12) \quad b_{2k} = -\frac{\{S_k(1) + S_k(-1)\}}{2}$$

$$(4.13) \quad b_k = -2\frac{p(t_k)}{(t_k^2-1)} - 4t_k l'_k(t_k) \frac{p(t_k)}{(t_k^2-1)} - 2p(t_k)\{l'_k(t_k)\}^2$$

Theorem 4.3: For $k = 1(1)2n$, we have

$$(4.14) \quad A_k(z) = \frac{(z^2-1)L_{1k}(z)H^2(z)}{(z_k^2-1)H^2(z_k)} + \frac{H(z)W(z)}{H^3(z_k)(z_k^2-1)W'(z_k)} \{M_k(z) + a_{1k}J_k(z) + a_{2k}\}$$

where,

$$(4.15) \quad M_k(z) = -\int_0^z \frac{[(t^2-1)H'(t)H(z_k) - (z_k^2-1)H'(z_k)H(t)]}{(t-z_k)} dt$$

$$(4.16) \quad a_{1k} = -\frac{\{M_k(1) - M_k(-1)\}}{2J_k(1)}$$

$$(4.17) \quad a_{2k} = -\frac{\{M_k(1) + M_k(-1)\}}{2}$$

For $k = 0, 2n + 1$, we have

$$(4.18) \quad A_k(z) = H(z)W(z) \{a_{1k}^* J_k(z) + a_{2k}^*\}$$

$$(4.19) \quad a_{1k}^* = \frac{1}{W(1)H(1)\{J_k(1) - J_k(-1)\}}$$

$$(4.20) \quad a_{2k}^* = -\frac{J_k(-1)}{W(1)H(1)\{J_k(1) - J_k(-1)\}}$$

5. Estimation Of Fundamental Polynomials:

Lemma: Let $A_k(z)$, $B_k(z)$ and $C_k(z)$ be defined in section 4. Then for $|z| \leq 1$

$$(5.1) \quad \sum_{k=0}^{2n+1} |p(z)A_k(z)| \leq cn^2 \log n,$$

$$(5.2) \quad \sum_{k=1}^{2n-4} |p(z)B_k(z)| \leq cn^2 \log n,$$

$$(5.3) \quad \sum_{k=1}^{2n-4} |p(z)C_k(z)| \leq c \log n,$$

where, c is a constant independent of n and z .

Proof: Using the conditions from (2.17)-(2.21), we get the result.

6. Convergence:

In this section, we prove the main theorem:

Theorem: Let $f(z)$ be continuous for $|z| \leq 1$ and analytic for $|z| < 1$. Let the arbitrary γ_k 's be such that

$$(6.1) \quad |\gamma_k| = O\left(n^2 \omega\left(f, \frac{1}{n}\right)\right)$$

Then $\{Q_n(z)\}$ defined by

$$(6.2) \quad Q_n(z) = \sum_{k=0}^{2n+1} f(z_k)A_k(z) + \sum_{k=1}^{2n-4} f(t_k)B_k(z) + \sum_{k=1}^{2n-4} \gamma_k C_k(z)$$

satisfies the relation,

$$(6.3) \quad |p(z)\{Q_n(z) - f(z)\}| = O(\omega_2(f, n^{-1}) \log n),$$

where, $\omega_2(f, n^{-1})$ be the modulus of continuity of $f(z)$.

To prove the theorem, we shall need the followings:

Remark: Let $f(z)$ be continuous for $|z| \leq 1$ and analytic for $|z| < 1$, and $f' \in Lip\alpha, \alpha > 1$, then the sequence $\{Q_n(z)\}$ converges uniformly to $f(z)$ in $|z| \leq 1$, which follows from (6.3) as

$$(6.4) \quad \omega_2(f, n^{-1}) = O(n^{-1-\alpha}), \alpha > 1.$$

There exist a polynomial $F_n(z)$ of degree $\leq 6n - 7$ satisfying Jackson's inequality.

$$(6.5) \quad |f(z) - F_n(z)| \leq c\omega_2(f, n^{-1}), \quad z = e^{i\theta} (0 \leq \theta < 2\pi)$$

And also an inequality due to O.Kiš [8].

$$(6.6) \quad |F_n^{(m)}(z)| \leq cn^m \omega_2(f, n^{-1}), \quad m \in I^+.$$

Proof: Since $Q_n(z)$ be is uniquely determined polynomial of degree $\leq 6n - 7$ and the polynomial $F_n(z)$ satisfying (6.5) and (6.6) can be expressed as

$$F_n(z) = \sum_{k=0}^{2n+1} F_n(z_k)A_k(z) + \sum_{k=1}^{2n-4} F_n(t_k)B_k(z) + \sum_{k=1}^{2n-4} F_n''(t_k)C_k(z)$$

Then

$$\begin{aligned} |p(z)\{Q_n(z) - f(z)\}| &\leq |p(z)\{Q_n(z) - F_n(z)\}| + |p(z)\{F_n(z) - f(z)\}| \\ &\leq \sum_{k=0}^{2n+1} |f(z_k) - F_n(z_k)| |p(z)A_k(z)| \\ &\quad + \sum_{k=1}^{2n-4} |f(t_k) - F_n(t_k)| |p(z)B_k(z)| \\ &\quad + \sum_{k=1}^{2n-4} \{|\gamma_k| + |F_n''(t_k)|\} |p(z)B_k(z)| \\ &\quad + |p(z)\{F_n(z) - f(z)\}| \end{aligned}$$

Using (6.1), (6.4)-(6.6) and Lemma, we get (6.3).

REFERENCES

- [1] Bahadur S. and Mathur K.K., weighted (0,2)*-interpolation on unit circle, Int. J. Appl. Math. and Stats., 20,(2011).
- [2] Bahadur S., Pál-type (0; 0, 2)-interpolation on the unit circle, Int. J. Math. Sci., vol. 11, no. 1-2, 2012, 103-111.
- [3] Bahadur S., (0,2; 0)-interpolation on the unit circle, Italian Journal of Pure and App. Math. 32 ,2014 ,57-66.
- [4] Bahadur S. and M. Shukla, (0,2) Interpolation On The Unit Circle ,Int. J. Advan. In research and Technology, vol.3.Issue 1, January 2014.
- [5] Bahadur S. and Bano S., On Weighted (0,2) Interpolation ,Global Journal of Pure and Applied Mathematics ,13(2),2017 pp.319-329.
- [6] Balázs J., Súlyozott,(0,2)-Interpoláció Ultraszférikus Polinomok Gyökein, MTA III.Oszt. Közl., 11,1961,305-338.
- [7] Dikshit, H.P., Pál-type interpolation on non-uniformly distributed nodes on the unit circle, Journal of computational and Applied Mathematics, 155(2),2003, 253-261.
- [8] Kiš O., Remarks on interpolation (Russian), Acta. Math. Acad. Sci. Hungar., 11, 1961, 49-64.
- [9] Szegő G., Orthogonal Polynomial, Amer. Math. Soc. Coll. Publ., 1959.
- [10] Turán P., A Turán problem on the (0,2)-interpolation based on the zeros of Jacobipolynomials, Acta Mathematica Acad. Sci. Hung. 33(1979), 317-321.
- [11] Xie Siqing, (0,1,3) interpolation on unit circle, Acta. Math. Sinica 1996, 39(5), 690-700.

